L Lo daf Ao RKORE £y Ll i bk )
N ) S22 o i 2N
AR R AR A R 2 AG s
109.09.18 4
2% F SRR RETE /A K IEREAE
- NCTU FEF £51(85.8-109.8)
= o g *3E 1% 7 (85.8-91.7)/ *#.17{-(85.8-91.7)/ *Z 1T (88.8-94.7) 5
%ig%?i;;& *% # % (88.8-94.7)/ % A& /7 (88.8-90.7)/ *¥ & =~ (90.8-96.7) -
== #35 2 $(95.8-98.7 » 98.8-101.7)
EFHEPT 37k 4£.(107.8-110.7)
i Timn *342775(88.8-94.7)/ *hich £(87.8-937)/ /R /&F¥(89.8-90.7) -
- = *iki2%(91.8-97.7)/ i i= % (106.8-109.7)/ P = % (107.8-110.7)
HEIEER *% B % (85.8-91.7)
S TiIREn * 322 34(85.8-91.7)/ #ik- L (94.8-97.7 > 97.8-100.7) >
e 7 *if 49 4#(101.8.-108.7) / it £ & (108.8-111.7)
TARTESR #3% & % (94.8-97.7 » 97.8-100.7)
MW Tige R *HFH(85.8-91.7)/  *3ER §9(87.8-93.7)/  *% % +(88.8-94.7)

MRARSHETESRA

*F k #(106.8-112.7) / 3k ¥ (108.8-111.7) / ph = - (108.8-111.7)

*F 31#(102.8-108.7) /  *# 5~ 4% (105.8-110.7) / % 54 % (107.8-110.7) ,

RIBTIZHARAA
#3% % 12(98.8-101.7 » 107.8-110.7)
EFVRBER Mt A (109.8-112.7)
ER8ER * 410 (89.8-95.7)
FEFRLERA % % #9(84.8-90.7) / *3F -+ #4(89.8-95.7) / *3E ¥ £(90.8-96.7)
EYRNRER + %:£(107.8-110.7)
THETIEEERE 72(104.8-110.7) ; =4k § (105.8-111.7)
S ESIEHRAN #% % +£(95.8-98.7 » 98.8-101.7)

R BB FPh

* i ) :(86.8-92.7)




INEIFE SRR *0§ & it (105.8-111.7)

ZIN

HWEHER #% 13(94.8-97.7 » 97.8-100.7) / * 2 8%i#(104.8-110.7)
B & 43 X +26*+6#=75 X =%

=
1" HREZREBIZBOIMRAES -
2. " RE—JRTIEA BB R — R BB 2 -




